4.8B Operations with Complex Numbers

Consider the number 5 + 2{, Because 5 is a real number and 2i is a pure imaginary
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The Complex number, they are not like terms and cannot be combined. This type of expression is
Numbers called a complex number
(C) Standard Form of a Complex Number: (L-'r b
Adding and Directions: Simpiify the expressions below. Final answers must be in a+bi form.
Subtracting 1. (=114 30+ 9+ 2() 2. (4+0+(7=50)
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Multiplying 5. 2i(8 - 3i) 6. —i(2+101) 5
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Complex Two complex numbers in the form a+bi and a-bi are called complex conjugates. The
Conjugates product of the two conjugates is always a real number.
9. (8+i).(8—:')_ . 10. (5 — 4i)(5 + 4i)
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Dividing Complex | Watch outl “i" cannot be in the denominator of a complex number.

F Numbers « If the denominator is a monomial: Multiply the numerator and denorpinator by “i"
e If the denominator is a binomial: Multiply the numerator and denominator by the
conjugate , )
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